46. Colour the picture.

(1x10=10)
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*Questions 1-20 Choose the right answer from the options and put a tick mark against it .

1. Who is known as the Architect of Modern India ?

a. Sardar Vallabhbhai Patel

c. Jawaharlal Nehru

b. Dr. B R Ambedkar

d. Mahatma Gandhi

2. Which of these oceans lies to the south of India ?

a. Pacific Ocean b. Indian Ocean

c. Atlantic Ocean d. Arctic Ocean

3. Who is known as the Frontier Gandhi ?

a.Khan Abdul Gaffar khan

b. Nelson Mandela

c. Vinobha Bhave

d. Swami Vivekanandan

4. Which of the following vegetables does not have seeds ?

a. Brinjal b. Carrot

c. Pumpkin d. Tomato

5. The name of the International Airline of India is

a. Air India b. Indian Airlines

c. International India

d. Both (a) and (Bb

6. Which of the following is NOT an organ ?

a. Lungs b. Lipid

7. Which organ is affected by Jaundice ?

a. Stomach b. Intestine c. Liver d. Pancreas

8. Which is the largest flower ?

a. Lotus b. Rose

9. The term ‘KWALITY’ is associated with the product

a. lce cream b. Refrigerator c. Pencil d. Television

10. Who created the character Harry Potter ?

a. Lewis carroll b. J K Rowling c. R L Stevens d. Jonathan swift

(20x2=40)

c. Kidney d. Pancreas

c. Rafflesia d. None of these




11. Who created the popular cartoon character ‘MickeyMouse’ ?

d. Charlie Chaplin

d. None of these

d. Saturn

a.Shankar b. Abu Abraham c. Walt Disney
12. The term ‘Yorker’ is associated with
a. Hockey b. Cricket c. Football
13. A planet which has almost the same size, mass and density as the Earth is
a. Venus b. Uranus c. Neptune
14. Who invented paper ?
a. The chinese b. Egyptians
c. The mesopotemians d. The Arabs
15. The Gir forest in Gujarat is famous for
a. Elephant b. Tiger c. Lion

d. Monkey

16. Which of the following is a function of the skeletal system ?

b. Protection

a. Support

c. Calcium storage

17. Which of these is an aquatic plant ?
b. Paddy

a. Lotus

18. If cost of 1Kg grapes is Rs.80,What is the cost of 250 gm.

a. Rs. 30 b. Rs. 20

d. All of these

c. Sugarcane

c. Rs. 40

19. Which of the following is equivalent to 180 minutes ?

a. 1 hour b. 3 hours

c. 4 hours

20.Who is known as the ‘Missile man of India’ ?

a. Sardar Vallabhbhai Patel

c. Narendra Modi

*Questions 21-25. Spot the odd one.

b. Dr. AP J Abdul Kalam
d. Mahatma Gandhi

21. (a) Rose (b) Jasmine
22. (a) Rubber (b) Pencil
23. (a) Newspaper (b) Iron box
24. (a) Delhi (b) Mumbai
25. (a) Carrot (b) Apple

*Questions 26-35 Fill in the missing Numbers / Letters.

26. 12,9,6,

27. 2,6,10, ,

d. Peaplant

d.Rs. 100

d. 6 hours

(5x2=10)
(c) Marigold (d) Cauli flower
(c) Bench (d) Scale
(c) Television (d) Internet
(c) Trivandrum (d) America
(c) Cucumber (d) Tomato
(10x2=20)

28. 3,57,

29. 0,6,12,18,

30.1,3,5,

31.AC,DF,GlI,

32. ABC, BCD, CDE,

33.AC, E,

34. abba, cddc,

35. ZY, XW, VU,

*Questions 36-40 Choose the word which is closest in meaning to the word given below.

36. Pledge
a. Offer
37. Sour

a. Unpleasant

38. Achieve
a. Lose
39. Cease

a. Abandon

40. Cry

a. Keep

b. Release

b. Sweet

c. Bitter

b. Gain

b. Persist

c. Hold

b. Sleep

c. Weep

*Questions 41-45 Solve

41.The Cost of 20 chairs are T 8000/- . Find the cost of one chair?

42. The sum of two numbers is 5632.If one number is 2451. Find the other number?

43. Mr. Sagar has 450 pens. He gives 21 pens to his friend.How many pens are left with him ?

44. Mrs. Anitha Leaves for office at 9.15 am and she reaches office at 9.45 am. How long does

Ans.

c. Promise d. Appeal
d. Unclean
c. Surrender d. Leave
d. Live
d. Smile.

Ans.

Ans.

she take to reach office ?

45. 135x

Ans.

=8x135

Ans.




